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QUESTION 1

What formula can be used to determine the average number of column-organized pages found in each read request? 

A. POOL_COL_READS/ POOL COL READ REQS 

B. POOL_COL_P_READS/ POOL COL P READ REQS 

C. POOL_ASYNC_COL_READS/ POOL ASYNC COL READ REQS 

D. POOL ASYNC COL P READS/POOL ASYNC COL P READ REQS 

Correct Answer: A 

 

QUESTION 2

When does space reclamation for a column-organized table normally occur? 

A. Whenever an individual row is deleted. 

B. Whenever an individual row is updated. 

C. After all rows in an extent have been updated. 

D. After all rows in an extent where updates took place have been deleted. 

Correct Answer: A 

 

QUESTION 3

Which two sources can be used to provide input to the InfoSphere Optim Query Workload Tuner that generate
EXPLAIN information when creating the query workload? 

A. db2pd 

B. Routines 

C. EXPLAIN tables 

D. Snapshot monitor 

E. ACTIVITIES event monitors 

Correct Answer: CD 

 

QUESTION 4

If the following commands are executed successfully: 
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Which SQL statement will fail? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 5

What is a DB2 Advanced Copy Services (ACS) script used for? 

A. To install and configure DB2 Advanced Copy Services. 

B. To redirect Tivoli Storage FlashCopy Manager commands to DB2 Advanced Copy Services. 

C. To test the functionality of a DB2 ACS API vendor library without performing a snapshot backup or restore operation. 

D. To perform snapshot backup and restore operations on storage devices that do not have a DB2 ACS API vendor
library. 

Correct Answer: C 
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